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For if it enters you mind that he trusts her words, she should at least
be divorced when the Get comes into her hand

Overview

The X3 queried in a case where the 2"7va said ‘four’, and the m°%w said ‘three’;
and the workers said 2"7y2 KRw 12"; do we say that °>10 7°7°7 XRM27IX (of the
mow) and they get three, or do we say 2"7v27 812°UR 171°nyT and they get four. The
X713 attempted to resolve this query from the ruling of 27 91X M2AX 72 727 K 1"
in a case where a woman told a m>w, ‘bring me my vx’ (a X277 °9W), and the oW
told the husband, your wife told me, ‘accept my vy (a 122p% mow), and the
husband said, ‘take it as she said’; the ruling is that she is not divorced even when
she receives the vi. This proves (concludes the X7n3) that 720 Xp 73777 XM2°7X, for
if 7m0 Rp 7777 XRM27X, why is she not N7 when she receives the va. Our NMBOIN
explains the comparison between the two cases (the workers and the v3).'

= %20 YT NNIDIYNR NINYT DTN 2227 )999NIN INT
For if we say that by the workers their intent is for the advantage which the

2''1Ya gives them, so -
- ZN\D’) Y N2 N9INT N1 NNIYN Y¥aT NINYTT 999199 159 91 99) NN

Here too by the v3, we should have said that the intent of the ®v2 is for the
advantage that she gives him, for she said "v°s *» 8277 -

mooIn anticipates a difficulty:
= DYab Y90 NNIY M1 SV YD LAPNN NV 9INPT INNT 23 HY 9N

Even though that this which the m°>w says, '»u %% %apnn’, is (seemingly) more

beneficial to the »va -
- 319 PYIN NYNN NNN ON N9M92 99 HVIINNIY

For she will be divorced quicker if indeed the wife would have said apn;1 —

' Seemingly they are different; for by the workers (when they say 272 K@ 13) they want the best for themselves
and therefore we can say 2"7¥27 RM2°UX ¥1"nv7; however here by the 3 what difference is there to the husband
whether to follow what the m°%w said or what the TwX might have said.

2 The husband wants to divorce his wife; that is his benefit. If we say 7°n0 7°7°7 X11277X, then she will not be divorced
(because the husband thinks he is a 772p% 7°%w [which he is not], and the husband does not make him a 73931 %),
however if we say 7m0 77°7 X127, she will be divorced 77°% va ¥237wn, as '0In continues to explain.

? The question is that seemingly in the case of the v3; accepting what the m>w says is 227 X", as opposed to
o915 where not listening to the °%w is their 817y (for the employer promised more), so how can we compare the
cases?!
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mooIn responds:
= DYan MOT Y9V NN NAN NYNN NINNRY XROVH 01PN Yon

Nevertheless, now that the woman said X277 (but not %2pnr), it is more

beneficial to the »»a -
- 1Y D) PIIYI RN YNNNY “9NIRPT INDN TR0 IN

If he trusts that what she says, for then she will at least be nw=» when the w3

reaches her hand, as opposed to trusting what the m>w said, where she will not be nwa» at
all -
- DT NHDIYN IYAT NPT ING NAYN XU NYT 11

But since the ruling is that she is not divorced, it is evident that Yy27 7onw7 is

not 77737 XM9YN, but rather he trusts the m°>w more than the nown (the wife), so -
- 1537 S¥27 RNVYN DINPYTT 923129 19 1Y 1Y 23 333 XIN

Here too regarding the workers, we should not say that 2''77va7 X998 7°npT,
but rather he is 777 811278 710 (of the mHW).

mooin offers (and rejects) an alternate explanation:’
= D993 NYHNN NIRY NN NN HYAT XNDIYT w995 PN YN

However, one cannot explain (on the contrary) that the benefit to the Y¥3, is

that she is not quickly divorced -
NYNRY NYNNNN DY 41y XY

For that is preferable to him than her being divorced immediately -
- "mMorwaa 1%Y VIY RNWM WA BN DPY BN 1Y 1193 19N PYAY 59

Since now (when she is not divorced immediately), he still has the option,
whether to keep her as his wife, or to divorce her. So now the query is simply
resolved.

moon however rejects this explanation (that postponing the v is beneficial to the Hv2):

* This should perhaps be amended to read; 77nRpP7 (instead of MRPT).

> We need to understand why it is more beneficial for the husband to trust the wife (who says 7%277), than to trust the
mow who says 1772p. By the workers it is obvious why it is more beneficial for them to trust the 2"7v2 (who said
four) over the 5w (who says two), but why is it so by v3. Seemingly since the 2¥2 wants to divorce his wife; 773p is
a better choice than X277 (since she is divorced immediately, which is what he wants). M50 previous explanation
may not be that satisfactory (since the 72 does not know the ultimate result, so superficially 7%2p is preferable to
7990).

%1t is (usually) better for a person to keep his options open, than to be committed to something which he may later
regret. Therefore on the contrary 75917 (the wife’s choice) is better than 793p (which the m°%w claims).

7 Just as by 0¥ (where the 2"7v2 said four) there is a X120 of X"2°¥X %1°ny7, similarly by vx (where the WX said
7R277) there is a benefit to the man to be 77°7 X112°7% M0 (for he keeps his options open), so since we see by v that
we do not say R*?°UX 1n¥7, but rather it is not a b3, since M0 7°7°7 XRIX (we trust the MW not the nHwn), the same
is by 2710 that we say 7m0 7°7>7 R112>7X (of the m%w) and they receive only three.
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For this will not fit well with what the X723 states shortly; ‘it would be fine if the
opposite was taught, etc.; meaning -

= 900 RP DT NIRRT DY 1D V) YWINYN

Once the ©» came into the s>W possession, she is divorced, that would prove

that 7520 RP 17737 X71297R because she wanted him to be a 792p% MW -
= TR0 DYDY ATT RIIIIN 13997 Nt 299

However, according to the w157 1R (that it is preferable for the husband that the
Y1) take place later), we are following her for his disadvantage, for she is

being divorced quicker; therefore if we say Tno 7797 XM2>X (of the n9wn) even to his

detriment -
= 705 Y %20 HYaT NNIIYNT 19V YT VIV

So it is resolved that we can certainly depend 2''17¥27 X™9°YN, which is for the

benefit of the a"%y1o -
- NYYY MNPT NIDIYN NINYTT 159 RVIV M7 HI¥9T MLV 9D 12 ONY

So therefore this contradicts the previous assumption, in the case where the
2"77v2 said three and the 7°%w said four, where we certainly assumed that 7507 of

the workers was for the benefit which the m%w said (four) -
ST NIIWAIN I¥a 7990 NN %210 P2 KNP N N

But not for the detriment caused by the 2''77w2 who said three, and here by ©3

the ®¥2 trusts her more than the m°%w, even to his detriment, for she will be divorced
immediately; taking away the benefit of him having his options open. This proves that the benefit
for the husband is to have the divorce over with as quickly as possible. Therefore the w157 "X is
refuted.

Summary
By v1 (at least) it is preferable (for the Hv¥a who intends to divorce his wife) to have

it done as quickly as possible, rather than to keep his options open.

Thinking it over
1. Seemingly the w157 X1 is (almost) self-contradictory. What proof is there that

TRO 7T VIR (of the mHWw), perhaps usually it is X1N2°¥7 7nyIR (the mown),
however here it is self-evident that the %¥2 does not want to do as the n7>wn said (to

¥ The xm3 refutes the proof saying that it is possible that 7m0 777 X112°7%; however the agent is not willing to be a
797972 oW, therefore she is not nw1. There would be a proof, says the X713, if the case and the ruling would be as
follows; she said, ‘be a 722p% m°ow’, and the 5w said ‘your wife told me to be a 73772 m°ow’, and the husband said,
‘TARY W3 72777, and the ruling would be, etc. as MOOIN continues.

? This would mean that the woman (or the 2"7v3) is always trusted more than the n*ow, even if it is Xy Io.
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be a 70737 mHWw), for if he so wanted it, he could have made him a 737175 bW,
regardless of what either he or the wife said. Since he did not do so, it is evident
here that he wants only a 792p% %W, however elsewhere we can say that it is 7°ny7
X19°vX of the mown!"’

2. °wX 17, when offering the alternate resolution to the query (in a case where she
said 121 92pni), mentions that if the ruling would be nwaan 77°2 3 Yanwn, that
would prove that 77 8M2*7% (of the m°5w) 7°no. However according to the X
w195 (that the husband prefers a later Pw17%)) there is no proof that by %310 we
also say 710 777 XRM277X, for only by 03 do we say 720 7°7°7 XR71277X, since it is for
the benefit of the Hv2; she is being divorced later, however by 0°%319 where if we
say 777 XM2IX (of three) Mo, it is for their detriment, perhaps we do not say
T°M0 7777 RM2°TR, but rather 2"7Y27 XM2YR NV, Why did not m»oin refute the
w9 PR, from our own 832!

10°See 715077 "won R # 161.
' See x"wn.
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